Fill in the following identitics.

SCORE: /14 PTS

[a] PYTHAGOREAN IDENTITY: [b] NEGATIVE ANGLE IDENTITY:

cot’x= csc*y —| sec(—x)= Sz <
[c] SUM OF ANGLES IDENTITY: [d] DIFFERENCE CF ANGLES IDENTITY:

tan(x + y) = Hon x + Yoo Y. SIN(X =) = Snax Co&& ~CDS X Sy

[~ 4 fzan j D

[e] HALF ANGLE IDENTITY: [f] POWER REDUCING IDENTITY:

costx= 4 | I+cosx sin’x = + () - cos )X)

2
DOUBLE ANGLE IDENTITY: Cos2x = _ 2

[e] COSH=Sm®x = Deogtx—| = |= Dgpatn

[WRITE ALL 3 VERSIONS|




Ifcosx= —-% and 7 <x < 37” , find the values of the following expressions.

Write each final answer as a single fraction in simplest form, including rationalizing the denominater.
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o (csc B—cot B)” +1
Prove the identity
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=2cotB. SCORE: /14 PTS

Lesc* B 2escBestB
Sec B‘ (Csc —cutB®)

= 2cseB( s =R
sec B ( t5e PerF )

- B .
I~ B cos - 266%8

W)




Rewrite sin® x using only the first powers of cosine (and constants and the 4 basic arithmetic operations).

Simplify your final answer, which must NOT be in factored form, and must NOT involve any other trigonometric functions.

SCORE: /14 PTS
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Solve the equation 7 —4sin3x = 6(1 —sin3x). SCORE: /14 PTS
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Solve the equation 2cos2x 4 7sin x = 0 algebraically. SCORE: /14 PTS
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